
 
 

 

 
 

 

 
 

 
 

 
 

 

 
 

 

 
 

 

NPO  
 

 
 

 

→  

5 →98 



 
 

0

200

400

600

800

1000

 

H23  

23% 
32% 

 

 
 

 

 

 

 
 

 
 
 
 

 

 
 

 
 

 
 
 

 
 
 

 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 

 
 

 
 
 

 
 

 

 

 

 

 

 

 

 



 
 

 

 

 

 

  

 

 
 

 
 

 
 

 
   
  

 
 

   
 

 

 
  

 
 

 

 

 

 



 

 
 

 
 

 

 
 

 

 

 



S H19 H23  

H18 H19 H  

29  

135 

 

 

11  

15 

 

 

 

 
 

 
 

 

 
 

 

 

 

 



 
 

 

 

 
 

 

 

N H22 H24  

102  

353 

 

820  

21  

36 

 

 

63 

141 

146 

54 
58 

88 

78 

 

 

 

  

 



PDCA  

 

 
 

 

 
 

 
 

 

H19 H20 

H24 H25 

 

 
 

63 

141 

146 

54 
58 

88 

78 

 

H20 hr n=4  
H24 hr n=3  

hr n= ) 

hr n=4) 

n=2) 

n=4) 

hr n= ) 

 

 



63 

141 

146 

54 
58 

88 

78 

 

 

 

→
 

 

 

  

 
 

 

 
 

 

 
→  

 

 
 

 

 
 

 

 
 

 

 

 
5  

 

63 

141 

146 

54 
58 

88 

78 

→  

→  

→  

→  

 
 

  



 
 

 
 

 
 

 
                                    

 

 
 

 

 

 

50  

5
 

 

 

 
20-30

 
 



 
 

 
 

 
 

  
 

 
 

 

63 

141 

146 

54 
58 

88 

78 

→  

→  

→  

→  

→  
 

 

 


